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Since the beginning of your first algebra course, you have been

using the idea of an inverse. Recall from the number
properties, the inverse property for addition ( or the
additive inverse property): a + (-a) = 0, and also the inverse

property for

multiplication {(or the multiplicative inverse property): au% =1,

When solving an equation, these properties are used to "undo" the
equation in order to solve for x.

Remember that in the equation 3X + 5 = 35, the X has been
multiplied by 3 and then 5 was added which equals 35. In order to
solve for X, you must "undo" what was done in the reverse order.
You add -5 (the additive inverse of 5) to each side of the equation
to obtain 3X = 30. Next you divide each side of this equation by
3 (or rather you could say, "multiply each side by %, the
multiplicative inverse of 3). The final result is that the X has
been isolated, and X = 10.

Now, 1in this section, the idea of inverses is extended to
functions. Given a function £(X), an inverse function of f (X)
would be some function, say g(X), that will "undo"™ the £(X) and
leave just X, isolated. Likewise, the £(X) would "undo" the g(X)
and leave just X. Therefore, f£(X) and g(X) are inverse functions
of one another if: lf[g(X)] = X, for every X in the domain of g(X),
and glf(X)] = X, for every X in the domain of f(X).
Suppose for example, £(X) = 3X + 2. It turns out that

g(xX) = x;z is the inverse function for £(X), since
F[}Cx}]-z’[;? + 2 and g[vc(%_)y- 3
= (x—z) + 2 - 3x
= X 3
= X
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L(.Suq//'a e notataim "—P-’Cx)” /s ase/ %
denocte H inverse funclim frm £K). This

doeo _;lg_‘é' mean -FGQ « n 2 first exer<ises,
Yo will be given F6) ond £, Show bt
Sese are inJea/ imverse fencdims 5 one om’!{y-
by SAoz«/ing &t f[f"(xﬂ=x ad £T[F6)[= % .

EXERCISES © Shaw oot~ f6<) and f"(x) are /mperse
functims g one cMo‘dér

L )= 3x— 5 £l= XS

£ls 0] = s[ J-s f'[lfcxﬂ: [ ]+ ;f

—
—

= X

f
R

£ -F'JCK)J = £ -[«F(x) =

<. -P(")"’ZZ-!—-G, .(""(x)— X;é
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3¢ 'FCX):' "‘2x+6

40 'P6<)=‘ —BX'—é

S )= Xi4

F[¢"(>i)]; [ J+4

"

|

W= L 43

-«F-’(X) = -l |
IX-Z

{-'(x)-_—, —L_
p4

-»C_Z:F' (x)| =

[ -1

I
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g, fX)= J2x=27

-l

f &)=
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M, segeose ynu were Given seme Fnetim
fR). Hor wnddd Yo go abad 14'44/'»1; Y corms—
/U'hcln‘na -F-‘(;().? &?_M bg ,e:é'éfn; %:-{:64). Mar:
%"&"‘-4““32 2 < a.,/g5 @ Slve fr 4.
Example :  Given £X)= 3x+2, Find £760).

Let 4= 3x+2,
®'In'km£kn?¢,: xX= 3"3—4-2
@ selve Bry:  x-2= 3y

- -2 ~1,. . X-
S %)‘“ 'F_(X)— -3—?'

EXERCISES: Find -P-'Cx) .

9. f)= s%-3 0. F(X)z ~3x+5
Let 4= §X-3 _
(Dr..kra{an;“ ( Y=s( )-3
@ sslve 'Qrt&';

—————

. £ = .52‘3'::.2 12, £z 3=X%
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/3.

X1
3
. x4+ &
¢ 3
y= V7x—%
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2/, 4= —g-_-x+3z - a2, Y= _q5:<x_3;>

[}/berg /mve_ Yo seen #2] and #22 before ?J

23. = “';2" 4. Y= -X
2
25, Y= V4-x* 26. 4= @-Vx)
Assane X 20 @‘J'?),Oj [ASSan\e X 20 VJJ %2
2)

An iaérvrﬁng Céraalér:‘s'é'c %/ a *ﬁow?sm
ox) and its inverse £ /s K ve?/ec%fonf

%sc 1»*9440. e 7% wilf a/wgvyg_ e
TY menetric a.‘»ifé line. 4=X, a0 A 1€//M/}2

.'7'“74'41 S ast=te .
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= x5 |§
f‘G‘\ 3X + @‘I%-y
£ 6= Ix=1 A
ol
- X
/v
7/

QuesTion : Will e imverse of a4 funclim €60

ANSweR = Cmsider F&)= x’; W’b' @:x’)
0, In*krczam?g_ variables - x=y*

@ Solwe Hfor 4 : Léz-.-,)(
RN
Ao A FumcTron) I}
}»dee\") %_ 77«%{ M '3

ConcLuSIoN : The inrerse a continuows
functim €£6) will itself p;
be a functiom I L and on é / NoT Fumctiorn)
i€ e Runclion is a/u.m?o
/ncmshy o q/m7o decmsina-

CaNCL VS 1aM] 2 74- inve rse ofF & -R.{ngﬁ‘an will ;tself be
a fimctin IF and ml ;f HKe functim
£K) [s a. ong-to- me Functim.
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CONCLVSION ¢

The domain of #6) > range of £l
The vande of ¥0) => domain of £7().
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F.328—33‘0:
9. )= 243 o, Flos X odLFTEs 3

o hova L bole
2. £l):=5X+3 3. £)= = - s
6. f&'}: %ﬁ [‘-ﬁ.cﬁ 543

7. = e 19. €00 Yxip

15, £(A= ﬁ.;_i (See 4 13)

9. £06dz .%‘i". (See d17) 20, Fx)= Efs:_.i (Cee 4 18)
A 0 San)a £8)- D-ko

22. 57 - vz a "_x_:__fgg (See # 21)

23. Fbde 4 2k, £l)e-x i F RO NERE
%. £l G- R

[ore: 2n 21-3¢, el §6)2 D)

£.333-33¢; Practice Tosts, See detrked o [ufims
p.33C 5 340
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